
Pricing is actually a pretty simple and 
straight forward thing. Customers will 

not pay literally a penny more than the 
true value of the product. 

Ron Johnson 





An output decision is based on the 
capacity to produce (the production 

function) and on the costs of production 
(the cost function).  





Total cost is the sum of total fixed cost 
and total variable cost at each level of 

output. 

 

TC = TFC + TVC 
 

total fixed cost – the total of all costs 
that do not vary as output varies and 
that must be paid even if output is zero 

total variable cost – the total of all costs 
that are zero when output is zero and 
vary as output varies 





Average total cost is total cost divided 
by the quantity of output produced. 

 

AFC + AVC = TC 

ATC = TC ÷ Q 



$400 

$300 

$200 

$100 

1 2 3 4 

$500 

$600 

$700 

$800 

5 6 7 8 9 

TC 

TVC 

TFC 

TFC 

C
o
s
t 

p
e
r 

u
n
it

 





Fixed cost is the dollars you give up by 
being in business, even if you produce 

nothing. 





Average fixed cost is total fixed cost 
divided by the quantity of output 

produced. 

 

AFC = TFC ÷ Q 





Variable cost is the dollars you give up 
to produce at your current rate, over 

and above your fixed cost. 





Average variable cost is total variable 
cost divided by the quantity of output 

produced. 

 

AVC = TVC ÷ Q 





Marginal cost is the change in total cost 
(or total variable cost) when one more 
unit of output is produced, the cost of 
producing one more unit of a good. 

 

MC = TC ÷ Q 
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The Marginal-Average Rule 

 

When MC < AC, AC falls 

When MC > AC, AC rises 

If MC = AC, AC is at minimum 





The rising portion of the MP curve 
corresponds to the declining portion of 

the MC curve, and vice versa. 







The maximum point of the MP curve 
corresponds to the minimum point of 

the MC curve. 





The long-run average cost curve is the 
curve that traces the lowest cost per 
unit at which a firm can produce any 

level of output and can build any 
desired plant size. 
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Economies of scale is a situation in 
which the long-run average cost curve 
declines as the firm increases output. 





Constant returns to scale is a situation 
in which the long-run average cost 
curve does not change as the firm 

increases output. 





Diseconomies of scale is a situation in 
which the long-run average cost curve 

rises as the firm increases output. 
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THE END 


